ﬁ g \{ijf ‘% X&é{ Tinh nhan tir ctia da thirc khdi

Tén: Ngay thang: Piém:
C a4 +6x+9 2% — 4y
12x° — 13x% — 19x+ 20 20x° — 141x% — 23x + 210
X+ 7+ 15x+ 54 2% + dx
7x* — 49x 6x° + 36x
40x° — 357x° — 8lx + 486 X+ 9% + 18x + 28
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Tinh nhan tir caa da thac khéi
Tén: Ngay thang: Diém:
X+ d +6x+9 2% — 4x
(x+3)x% +x+3) 2x(x — 2)

12x° = 13x% = 19x + 20
(3x — 4)(x — 1)(dx + 5)

¥+ 7+ 15x + 54
(x+ 6)(02 +x+9)

7 — 49x
Tx(x—17)

40x° — 357x% — 81x + 486
(5x + 6)(x — 9)(8x — 9)

20x° — 141x° — 23x + 210
(5x + 6)(x — 7)(4x — 5)

2% + 4x
2x(x+ 2)

6x” + 36x
6x(x + 6)

¥+ 9% + 18x + 28
(x+ 7)(02 + 2x + 4)
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